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Source: MADE EASY ESE Mains Test Series-2019 b Q.2 (c) of Test Number 3
(c) Consider the signal-space diagram of a coherentQPSK system as shownin the figure

below:
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®,(t) and 0,(?) are two orthonormal basis functions, which are represented as,

b,(t) = \ECDSCI%)@#); 0<t<T

b,(t) = \Esin(zﬂfcf); 0=t<T

All the four message symbols are occurring with equal probability and they are
transmitted through an AWGN channel with two-sided noise power spectral density

N
of 70- Suggest a receiver model to reproduce the symbols at channel output and

derive an expression for the probability of symbol error.
[25 marks]

Source: MADE EASY Regular Classroom Workbook of Signals and Systems (Page Number 13)




Source: Similar Question From MADE EASY Classnotes




Source: MADE EASY ESE Mains Test Series-2018 b Q.4 (b) of Test Number 6

Source: MADE EASY ESE Mains Test Series-2018 b Q.6 (b) of Test Number 15

Source: MADE EASY Theory Book of Communication Systems (Page Number 142)




Source: MADE EASY GATE Test Series-2019 b Q.16 of Test Number 26




Source: MADE EASY ESE Mains Test Series-2018 b Q.3 (a) of Test Number 15
MADE EASY ESE Mains Test Series-2019 b Q.5 (c) of Test Number 5

Source: MADE EASY Theory Book of Control Systems (Page Numbers 252, 256)
MADE EASY ESE Mains Test Series-2018 b Q.7 (c) of Test Number 2







Source: MADE EASY Theory Book of Microprocessors and Computer Organization (Page Numbers 254,
261)




Source: MADE EASY GATE Online Test Series 2018




Source: MADE EASY ESE Mains Test Series-2019 b Q.4 (c) (ii) of Test Number 11

Source: MADE EASY GATE Previous Solved Papers, Q.7.5 of Control Systems




Source: MADE EASY ESE Mains Test Series-2018 b Q.3 (b) of Test Number 9

Source: MADE EASY ESE Previous Year Solved Convetional Paper Book (Page Number 212)

Q.18 40 nC of charge is uniformly distributed around a circular ring of radius 2m. Find the potential at a
point on the axis at 5 m from the plane of the ring. What would be the voltage if all the charge at the
origin like a point charge? [8 marks : 2014]

Source: MADE EASY Theory Book of Advanced Electronics (Page Number 64)




Source: MADE EASY GATE Online Test Series-2019 b Q.16 of Test Number 22

Source: MADE EASY Theory Book of Microprocessors (Page Number 73) = Q.6 (b) (ii)

Source: MADE EASY Theory Book of Electromagnetics (Page Number 170)




Source: MADE EASY ESE Mains Test Series-2019 b Q.2 (c) of Test Number 4
MADE EASY ESE Mains Test Series-2019 b Q.6 (c) of Test Number 6
MADE EASY Theory Book of Advanced Electronics (Page Number 106)

Source: MADE EASY ESE Mains Test Series-2019 b Q.3 (b) of Test Number 4
MADE EASY Theory Book of Advanced Electronics (Page Number 9)







Source: MADE EASY ESE Mains Test Series-2018 b Q.7 (b) of Test Number 8

Source: MADE EASY ESE Mains Test Series-2019 = Q.1 (d) of Test Number 15
MADE EASY ESE Mains Test Series-2019 = Q.2 (c) of Test Number 11




Source: MADE EASY Theory Book of Advanced Communication (Page Number 71)
Numerical on this Topic is given in MADE EASY ESE Mains Test Series-2019 b Q.8 (a) of Test Number 13




